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Instructions for the Candidates
Write your roll number in the space provided on the top of
this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR
Sheet Number should be entered on this Test Booklet.
The test booklet no. and OMR sheet no. should be same.
In case of discrepancy in the number, the candidate should
immediately report the matter to the invigilator for
replacement of the test booklet / OMR Sheet.
Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.
Example : CS
where (3) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the Original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are,
however, allowed to carry original question booklet on
conclusion of examination.
Use only Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
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POPULATION STUDIES
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Read the paragraph given below and answer the questions (1 to 4):

India has made considerable progress over the years in the health sector under National
Health Mission, that has improved the availability and access to quality health care, specially for
the poor women and children residing in rural areas. The JSY scheme under NHM had barrier of
‘Out of Pocket Expenditure’ on drug, diagnostics, transport, etc. The Janani Shishu Suraksha
Karyakram (JSSK) was launched to provide free treatment, drug, diagnostics, diet and transport
during institutional delivery. With the implementation of these schemes, significant progress is
observed in institutional delivery and ANC coverage. As per the latest data of the Rapid Survey
On Children (RSOC), the institutional deliveries in India are 78.7%, but only 61.8% women
received ANC in first trimester and the coverage of full ANC was as low as 19.7%. The desired
coverage and quality of maternal health services is still a matter of concern.

In view of above findings, government has launched a scheme to provide minimum
package of ANC services on the 9™ day of every month to ensure that every pregnant woman
receives atleast one check-up in the 2™ and 3" trimesters of pregnancy.

1. What are the barriers in the utilization of JSY scheme ?
(1) Lack of faith in government health facilities.
(2) Not getting JSY incentives in time.
(3) Non-availability of “out of pocket expenditure” on treatment, drug, and diagnostics
etc. during delivery
(4) Lack of awareness about JSY scheme.

2. Under the Janani Shishu Suraksha Karyakram (JSSK), which of the following are
provided ‘free of cost’ during delivery ?
(1) Free transport facility during delivery and referral.
(2) Free treatment, drugs, diagnostics during delivery in government health facility.
(3) Free diet during delivery in the government health facility.
(4) All of the above.

3. Which one of the following survey findings, government used to further improve coverage
and quality of ANC services in government hospitals ?
(1) NFHS-1I (2) AHS?2011-12
(3) DLHS-IV (4) RSOC 2012-13

4. Which of the recent scheme is launched by the Government of India to improve quantity
and quality of ANC and delivery services ?
(1) Vouchers to pregnant women for free delivery in private hospitals.
(2) Free transport to pregnant women for delivery.
(3) Incentives to pregnant women for institutional delivery.
(4)  Minimum package of ANC services on 9" of every month.
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AT AT AA
wo=asT — 111
T : 59 UvT § RN (75) S-aehed e & | Uesh Y & &F (2) 37 € | |t v A ¥ |

e 5T 7T IRETE it UfeT qer ueE (1 9 4) F SR ST

T e e & Sad 9Ra | fume 9ot § @ &F § Hw Wid g% ¢, g et
TTHOT &35 § e et TR [iEeTeT q° Sedi & [OTEargul T URed st SUCTSHdT a9 a9 Ygd
# QUR 3 & | U7 U UF F SIS U arg Ao § siufy, Frem, oRee ety % ar o <ot @
31 = ol STERIY o7 | SN Ui % IRA :9e SU=R, e, Hem, smer dor uRass wsm
T & ST TOTY] GR&T FIEsRT (S, TH. TH. ) TR {61 720 o | 37 Atred & wraraad & e gt
GENH Tgfd T4 T U 91 FHeRsT & &F H Hewaqul Wid 9@l 78 € | Seal Heell @Rd Taeio (IR 0F
3T ) & AT SRSl F STER IR § G Tgid 78.7% €, W] Hat 61.8% Hieest &l gaet
Tt 5 g gd I@TeT (T U ) S Gierer W g8 9T qo7 T U 9l A hael 19.7% o | e
T WA i TR At a2 ure 37e ot o 6 fawg ¥ |

SIS Rt o FESR, WEHR A & °IE 1 9 ARG i T T G Jarstt 1 FAas Yohst USH
% fIT U AT 3TRY &f €, T Tedes Mol Aiget o o &t g8t oo aert faamet & 9 9
HH T S GHad & T |
1. S U9 9 A SUET | T ST € 2

(1) TR @ glaunsti & ar o favearg &t w4t |

(2) T WS UF qE F WA U T & |

(3) VT & IR SUER, St qen M W Al ¥ 1ty @ |

(4) S TF AE ST % TR H STEhAT S AT |

2. ST TOTS] TR R (S, TH. UE. %) & S, Ui % 3R FEfetad 1 9 @ .30 ieE
e ST € 2
(1) vYid Ta Yt & IR .30 URee gfeer |
(2) THER WA &5 H UG & IR .30 STER, St e |
(3) PRI WA &5 H Wgfd & IRH .30 TR |

(4) SWI T
3. FAfafad § 9 g Goemor & Fehy o 3MER W WK = YR STTarel § T U d Jarsti &
TUTET i SR TG ST 2
(1) U % T TE-1II (2) Tu=muTg2011-12
(3) T TETE THIV (4) SR TH 3 9@ 2012-13

4. TUAH. T UGl Yarei s qorEmT § GUR & o 9Ra THR R & & H R T TS A 5
3T Ffetfad | & o uee fohar S € 2
(1) st eregarent | 9.9 ugid &g Tt Afectial i a8 |
(2) WY & THAA! AigernaTt i M3 TaeT
(3) Wtk wgfe & Tela Afgeat B e
(4) VF AR DN 9 ARG HI T U T Y137 1 ATH Yeht
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5. Which among the following is the correct sequence of first four most populous countries
of the world in 2016 ?

(1) China, India, Brazil, USA (2) China, India, Indonesia, Bangladesh
(3) China, India, USA, Indonesia (4) China, India, Brazil, Indonesia

6.  Which one among the following is not a measure of mortality ?
(1) Crude Death Rate (2) Average Life Expectancy
(3) Infant Mortality (4) Net Reproduction Rate

7. Which of the following country was not covered under WHO Study on Global Ageing and
Adult Health (SAGE) ?

(1) China (2) India
(3) Mexico (4) Brazil

8. Which among the following sectors has over representation of women worker ?
(1) Semi-skilled services (2) Managerial services

(3) Professional Services (4) Technical jobs

9. Match the scholars in List — | with the models in List — Il :

List— 1 List—11
a. E.W. Burgess i.  The Sector Model
b. Walter Christaller ii. The Central Place
c. Homer Hoyt iii.  Multiple Nuclei

d. Harrisand Ullman iv. Concentric Zone

Codes :
a b c d
() I T | B \VAR I
2 v i i i
3 i iv i i
(4) i di v
Paper-I11 4 JA-015-17
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5. freAfaRad |, 2016 9 fove o Had 2Afyes SIEEAT diel U4 T 7 61 Hel 5 o1 ¢ ?
(1) =, YR, STSTet, 3T (2) =, IRA, SSRRET, aremRw
(3) T, R, I, TR (4) =9, 9Rd, ST, SRR

6. fAfeiEd o ¥ 91 Jog 3T T A & € 2
(1) T 9 T (2) i faA e
3) fagw (4) Fa wEE

7. feAteiEd | @ g 391 B afvash JETawT qu Sk Wi et 5y, U4, 37, & 3TeEdT (U4
T, ST, )’ | e Tel oA T o ?

1) == (2) w=d
(3) Hfcraeh! (4) SIS

8. TAfaiad & ¥ fohe & T Tfectt HHRI 1 Uiatae 21fes & ?
(1) 3re-Feret gand (2) wSHST At
(3) USER Famd (4) TR ABET

9. gl —1 ¥ U e faemert & gat — 11 | I9MT 7TT Tt & a1 Gaferd Hif

e -1 e - 11
a. TTY TG i, T O Hied
b. @M FETR ii. T O9Tdwg
c. BIEEC jii. TR TS
d. g ud o iv. A ST
HT

a b ¢ d
@ i i v i
2 iv i i
3 it ivoodi i
4 diooWoavi
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10. Which of the following combinations have not been proposed by Julian Simon ?
I. Supported the club of Rome’s limits to growth.

ii.  Assumed that population growth causes technological progress.

iii. Used the second law of thermodynamics to assume that technolgoical progress is
costless.

iv.  Assumed the classical view of technological change.

Codes :

@ i i v
2 i i i
3 i i v
(4) iv i i

11. As per NFHS-1V findings, which of the following group of States shows “Clean fuel for
cooking (Electricity, LPG, Bio-gas)” in descending (higher to lower) order ?

(1) Goa, Tamil Nadu, Sikkim, Puducherry

(2) Goa, Tamil Nadu, Puducherry, Andhra Pradesh
(3) Goa, Tamil Nadu, Telangana, Andhra Pradesh
(4) Goa, Tamil Nadu, Maharashtra, Sikkim

12.  Which of the following combination is not associated with ‘Chipko’ Movement ?
I. Urban poor
ii.  Saving the trees in the forests
iii.  Tractor farming

iv.  Housing in rural areas

Codes :
@ i i i
@ i i v
3) i i v
4 i i v
Paper-I11 6 JA-015-17
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10. Sifera QEHA R H=faiad B § fohg IS S Uiquie- &t f6ar 741 ?
i, gig Hadr A9 ot dEret & faer % gEe A |
ii. I 9 SHEE | gy § WiRTeE W g € |
i, € A % T T Ui T SRl il €, SSAmTaeh! o a8 a8 1 JanT 4 |
iv.  TRNNTRR URE & I faeR % @R |

T

@ i i v
@ i Qi i
@) i i v
@ v i i

11. U UF TF TH-IV & H=hut & SRR, Hefared Isat & 69 9 = ged (399 9 ) % |
AT T & T “Teres T (fastelt, Tet O i, STEt-i) o6 v fear g 2

(1) e, aterrg, fafesrs, gg=rt
(2) i, SHETS, Jge, Sy e
(3) Tia, AT, ST, 3T WReT
(4) e, aeTg, HerT, fatemn

12. FrefarEd | | g GaeT o gey faush! sfeed § T8 ¢ 2

i e
i, o H g H Far
fii. ¥ R &
iv.  TTHIOT &35 7 SATeTe
H
1) i i i
(2 i i v
(3 i v
4) i v
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13.  Match names of the authors given in List — | with the title of the books given in List — 11 :

List—1
a.  Warrent S. Thompson I.
b. Donald J. Bogue ii.
c.  United Nations iii.
d. Robert D. Rutherford and Minja iv.
Kim Choe

Codes :

a b c d
Q) i i i v
2 i oivod ii
3) i i v
4 v i i

List— 11
Population Problems
Principles of Demography

The Determinants and Consequences
of Population Trends

Statistical Models for Causal Analysis

14.  Which amongst the following measures is not Summary Measure of Population Health

(SMPH) ?

(1) QALYSs (Quality Adjusted Life Years)

(2) HALE (Health Adjusted Life Expectancy)
(3) EJ (Life Expectancy at Birth)

(4) DALE (Disability Adjusted Life Expectancy)

15.  Among the following combinations, which one correctly lists (by United Nations), five

countries with higher to lower life expectancy in 2014 ?

1)
()
(3)
(4)

Paper-I111

Japan, Singapore, Switzerland, Australia, Italy

Japan, Iceland, Switzerland, Sweden, Australia

Japan, Italy, Switzerland, Hong Kong, Australia

Hong Kong, Japan, Italy, Switzerland, Singapore
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8 JA-015-17


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

13. TfaftEd gt — 1 ¥ ST 0 @i o A0 & Gt — 11§ 3! Qi o Iidehl & aref guferd

FHINTT
e -1 e - 11

a, AN TH, AFEd i, O ieered
b.  THwE . & i, Triivew 3 SHmE
c. HIFH UL ii. ¥ fefHcH U wiaed  h
d.  YaC 2. TIHE a e R v, WRieRewet Aiged iR Sisel TArad
FE :

a b ¢ d
@ i i i v
2 diioivod ii
3) i i v
@ v i i

14, T=fafEd § ¥ ST W 61 Wi q1as (SMPS) & 41 @i € 2

(1)
)
(3)
(4)

QALY (TUTal qHIAIST Sie a)
HALE (s QUM STia TeTeT)

EQ (S s T Siler Heairem)

DALE (farshetimmar JHmitsTd Siiae uemsm)

15. Trfeiad TaeH § 9 9ga T & AR U U 39 St Wel gA S 9 € S@f 2014 § Siae
TR “3Afeh S’ S T & 2

(1)
)
(3)
(4)

JA-015-17

ST, TR, Ragsrers, sieferan, gee

S, TEdcts, feesRets, w@ies, siefaan

ST, $2ell, RagsRers, BT, STeiorar
EATeHIT, ST, 2ot ReaesRete, fmR
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16. According to Leibenstein, marginal utility of a child — Which one is correctly defined ?
(1) Insignificant economic utility of a child
(2) Utility of an additional child
(3) Psychologically less important utility
(4) Utility of first and last children

17. By which of the following means, a country can move along the continuum from less
developed to more developed country ?

(1) Technology gap (2) Cultural convergence

(3) Technology transfer (4) Occupational structure

18. Match Indicators, shown in List — I with the Bigger States shown in List - I1 :

List—1 List— 11
a. Highest Birth Rate (SRS, 2014) i. Bihar
b. Highest IMR (SRS, 2014) ii.  Chhattisgarh
c. Lowest Modern Contraceptive iii. M.P.
Prevalence Rate (DLHS-4/AHS)
d. Lowest incidence of institutional iv. U.P.
deliveries (DLHS-4/AHS)
Codes :
a b c d
@ ivodi i ii
(2 i v il
(3 i ivodii i
4) i v i

19.  What is the importance of Ozone (O,) layer in the upper atmosphere ?

(1) It enhances the greenhouse effect.
(2) It has led to sharp increases in all types of cancer.
(3) Itabsorbs harmful ultraviolet radiation.

(4) It reduces the amount of acid rain and urban smog.

Paper-111 10 JA-015-17
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16. TENEUA % FTHR Ush =d i 3Tcded SUAINTAT i f7 T | i Tel Uit it € ?
(1) ==d %t TT0F 3Nk STFATT
(2) uw AfaARe a=a H ST
(3) ARTIE €9 § HH Heweul I
(4) vEet T 3w S B SR

17. fr=feafea 9 9 f6g Aee gRT U <9 &9 faiad aen 9 e fasiad 391 o fKen 9 gaq
G M &F Gohell € ?

Q) Hrenfiren! 3T (2 maﬁw
(3) TrEITTeR! BXATaRoT (4) =EHES e

18. EI-I H I T Fehershl i Tt — 11 H 9NT T 51 [T o TreT GATETd HifoTT
T -1 e - 11
a. 3TYHaH ST T (T TR TH, 2014) i fwr
b. 3P TS TH 3R (VT AR UH, 2014) ii. SAATE

c. TEdw omyfe MFREE UEeH I i T R
(31 T TF TE-4/T 79 1)

d. e Ugid B Ged Y G (S T iv. IO AR
TF TH-4/T T 1)

@ v i
@ i i v i
@) i v i
@ i i v

19. STRI AR H 3 (O,) T T 7w & ?
(1) I= U T TS H @It & |
(2) TTH HROT TN FHR o Ha H oSl T JE g ¢ |
(3) TE BIFeRe WIS fafehior bl TRg et & |

(4) T 3 I AT I T Y A B FH A ©
JA-015-17 11 Paper-111
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20. Which of the following approaches are included in the implementation framework of
NRHM ?

(1) Communitization and Flexible Financing
(2) Improved Management and Flexible Financing

(3) Improved Management, Flexible Financing and Innovations in Human Resource
Management.

(4) Communitization, Flexible financing, Improved management, Innovations in
Human Resource Management and monitoring progress against standards.

21. Match the items in List — I with List — Il and select the correct answer using codes given

below :
List—1 List— 11

a. Montreal Protocol i. Ozone depletion
b. Rio-Summit ii. Greenhouse gas
c. Ramsar Convention iii. Convention on biological diversity
d. Kyoto Protocol iv. Wetlands Convention
Codes :

a b c d
@) i i Y
2 v i i ii
(3) i v i
4) i i v i

22.  Which one of the following is not in analytical framework for the study of child survival
as suggested by Mosley and Chen : 1984 ?

(1) Maternal factors (2) Ecological factors

(3) Environmental factors (4) Nutrient deficiency

23.  Which among the following is incorporated in the definition of chronic food insecurity ?
(1) Long term inability to meet minimum requirement.
(2) Short term inability to meet minimum requirement.
(3) Inability to meet the requirement due to fluctuation in production.

(4) Inability to meet the requirement due to inflation.

Paper-111 12 JA-015-17
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20. FRAfREd # ¥ fd TSTd i UF AR o UH S HrEee SRE] § e 5 T e ?
(1) TSRO T TTeieT feraryoT
(2) SRR YSE TAT ST T
(3) SETR VEiE, T [auieoT qe Ae ST TeET § AareR

(4) AT, AT foaIgoT, dgak HeieH, THe G YaeE B Aarar a9 HH & [06s
T W R

21. GO — 1 %l AT & Gl — 11 & A GAAT HITTT 927 4 T 7T FHe 1 7= Hd §¢ el 3

EISE
Tt - 1 e - 11
a. Hit=Zact Wit T 1 e o1 O
b. AT R g ii. WTeTSE
c. TEER HEHT iii, ter faferadr Het weeH
d. I TR iv. TS T
ET
a b ¢ d
@ i @i i v
@ v i i i
@ i i v i
@ i i v i

22. AT O | A T Wl 97 OF ;19847 FRT GIU T ] STLSTGAT 3TeAA GarHt

?q%muunrch ISRELE] a;d'éd qﬁ ST ?
(1) W Geel HReE (2) uRfefasE sRE
(3) TAFERvE FEH (4) kel s

23. Tr=fatea o 9 5 Sieehiferes @er ST i aierer § |fsferd far mr g 2
(1) o STeRgHal [ FH § SEHTeeh STamed |
(2) —gFCH AR T FA H TeUraresh STaHe |
(3) SR H SAR-TETE % HRUT STAYIHAT T FHA | STIHT |
(4) HEERITT % HROT STEvIHAT T FA § ST |
JA-015-17 13 Paper-I111

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

24. Which one of the following measures does not consider/include only new causes of illness
during reference period (time period of observation) ?

(1) Incidence rate (2) Attack rate

(3) Secondary attack rate (4) Period prevalence rate

25. Match the scholars in List — I with the concepts in List — 11 :

List—1 List— 11
a. Emile Durkheim i.  Cities are growth machines
b. George Simmel ii. The racialisation paradigm
c. D.E.B.DuBois iii.  Urbanism — life within the city

d. John Logan and iv. Social solidarity
Harvey Morotch

Codes :

a b c d
@ iv i i i
(2 i i v
(3) i i iv i
4 iiioivoi ii

26.  Which one among the following is the correct expression of BOD ?
(1) Biological Oxygen Demand (2) Biotic Oxygen Demand
(3) Biochemical Oxygen Demand (4) Biological Oxidation Demand

27. Who among the following scholars created Central Place Theory related to Human
Settlement ?

(1) Burgess (2) Todaro
(3) Walter Christaller (4) Adele E. Clarke

28. What is the name given to rapid population increase that has taken place since the
Industrial Revolution ?

(1) Population growth (2) Population bomb
(3) Population explosion (4) Population bang
Paper-111 14 JA-015-17
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24, WY 3Ty (STAIH Hl THAEN) & IR Ffarad § 9 60 [ gR1 AT % ool 9T HROT
T faamr &1 foman sirar ereran 3% wiHer el fohan St 2

(1) °Tae =T (39ied W) (2) 3 I (3FH )
(3) 5 3T 5T (Ahed 3 Q) (4) 3@y goer X (TuRas Waetd @)

25. gl — 1 % oAt ot Gt — 11 S STTERONST & Al i

Tl -1 T - 11

a. THIEA gHEW i v T 5 meie €
b. St e ii,  STeRTOT AfaHe
c. TIT AR iii, TEAHIOT — ¥R & R e
d.  SIF ANTE T e U iy, QTHIST Ut
% :

a b c d
@ vl i
@ i i i v
@) i i v il
@) Qi iv Qi

26. fr=teiEd @ % T BOD %! W@l et ¢ ?
(1) ST AT ferre (2) s i feare
(3) SRR SR feare (4) SRR SRIEYH feure

27. Tr=feiad o 4 g fommes 3 Oe @ ot ssid @ & g o gfque fear 2
(1) =g (2 <T=r
(3) dieeX R (4) USAE FTH

28. 3T Shif=T o 1% ST § g8 SHEEAT gig i /T A1 &2 @ g 2

(1) SHEET gig (2) SHEETTH
(3) N TR (4) ST STEE (S)
JA-015-17 15 Paper-111

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

29. Match the internationally celebrated days shown in List — I with the days when they are
celebrated shown in List— 11 :

List—1 List— 11

a. World Health Day i. November 16
b. World Population Day  ii. April 7
c. Day of Older Persons ii. July 11
d.  World Toilet Day iv. October 1
Codes :

a b c d
@ iv i i i
2 i v
(3) i v i
4) i i Y

30. In Rank-Size-Rule which one of the following relationship between city population and
the city rank is correct ?
(1) Linear (2) Hyperbola
(3) Concave (4) Logistic

31. Pollutants that are introduced into the environment by human activity are correctly called
by which of the following :
(1) Biological pollution (2) Radiation pollution
(3) Chemical pollution (4) Anthropogenic pollution

32.  Which among the following has been the rank of India’s Human Development Index
according to UNDP report for the year 2015 ?
(1) 125" (2) 130"
(3) 136" (4) 138"

33. A population pyramid with a wider base indicates which of the following ?

(1) Decline of population (2) Rapid growth in population
(3) Slow growth in population (4) Stability in population
Paper-111 16 JA-015-17
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29. T - | ¥ 9T T AL fqardi S Gl — 11 § 39 TA ST & fe1 o 9rer gaferd it ;

T -1 T - 11

a. Tovg @A fkad i, 16 9eeT
b. Tova ST ka9 i, 7 sme
c. 5 AR Ka| i, 11 ST
d.  fova viemers e iv. 1 3R’
FT

a b c d
Q) iv i i
2 i i v i
@) i i v i
@) Qi @i i v

30. Yo-SThR-MTH H WET i STHEEAT a7 36T & Yo & &g Tay &l 741 § & &9 91 G&l g9mar & ?

(1) Y& @) (2) FATRETT (FTEORAT)
(3) 3TEAAT (Fihd) (4) TEHIE (ASTE)

31. T fhathetral gRT YaTeRer | et atet UgWeh i FeT § § i o1 Wel S & 2
(1) Sifass ugoT (2) fafeoia ugwor
(3) V@ HgwOr (4) HEES TS

32. g W B 2015 & USRI [Thr HEHH RUiC & AR HH [T o & ER 0

TR i IR Tl & ?
(1) 1254t (2) 1304t
(3) 136dt (4) 138at

33. AU YN ool SHEE fTafae fa it sear € 2

(1) e o FHH (2) SHEENH a9 ghs
(3) SHEEM T i gy (4) SIS H T
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34. Match items in List — | with the items given in List — Il and select the correct answer using
the codes given below :

List—1 List— 11

a. Direct Standardization i. Mortality by cause of death may be analysed in
of Crude Death Rate terms of ratio and rates

b. Indirect ii. It is a relative measure of Mortality to indicate
Standardization of changes in the level of overall mortality or a
Crude Death Rate population

c. Comparative Mortality iii. It involves selection of a ‘Standard Population’
Index and computing of the weighted average of the

age-specific death rates in a given area using the
age distribution of the standard population as
weights.

d. Cause-specific death iv. The crude death rate of the standard population is
rate multiplied by the ratio of actual deaths to the
number of deaths expected on the basis of the age
specific death rates of the standard population
and population distribution by age in the

population under study.

Codes :

a b c d
@ v i i ii
(2 iiioivo i i
(3) i i v
4) i i iv i

35.  Which of the following measure is used for calculating disease burden ?
(1) Fertility measures (2) Nuptiality table
(3) Migration measures (4) Disability-adjusted life years

36. According to NFHS-1V, which of the following States had highest percentage of
institutional delivery ?

(1) Tamil Nadu (2) Karnataka
(3) Goa (4) Andhra Pradesh
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34. G — 1 B "Rl B Gl — [ H T TR P TS GAfeTd I q41 e T T He 1 =T

@@Wﬁﬁl’q
e - 1 et - 11
a. OTONTYA G X H U@ i ST 9 S % W H GF & FRT FR GF T
HTehIHIOT T TagetooT foha ST & |
b. 3TN Tog 3T ii. g% HYUT gog ST STfET SHUEAT % R H uRed i
3T HIHIHIOT T HH T P T H AU A ¢

c. ToMIcHS Gcg S GO iii. $EH YR % ¥ § HHD SHUET & 3 a9 6
TATT YA g T & H U g forwd B 9o Wk
A TG & TUAT q&T “HHS A H 9
gitferd gidr & |

d. RO fEaRme-ge &T iv. % SHEET S SN Jog 3T arad | ge wial
q GEE SHEE B g faTe g X 3R
STEHITEN SHEEA § 3T % STFAR U@ foaror
% SMYR W & ATl Fuiad Tl o 3 % are

o feaT ST ¥ |

T

a b ¢ d
@ ivoi Qi i
@ Qi v i
@ 0 Qi i v
@ i i v i

35. T WK & URehe &g Mfeiad § 9 o6 ATuss o1 T forar ST € 2

(1) VST qTash

(2) dHETEsHAT TeTH!
(3) VS AU
(4) ToFATTA-gHEIST Se

36. U UH UF UE-1V & 3FOR Fefcifad § § f6g T59 &1 T wgid ufaerd g 31 & 2

(1) dEHeTg (2) wHAH
(3) Tiem (4) 3Ty wew
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37.  Why is polluted ground water difficult to clean ? Select right answer from the following :
(1) Water cycle stops when water is polluted.
(2) Groundwater table is difficult to reach.
(3) Groundwater is shallow near the ground.

(4) Water cycle happens very slowly.

38.  Which of the following combination is characteristic of a sustainable society ?
(i)  Relies heavily on fossil fuels
(if)  Protects biological species from extinction
(iii) Practices resource conservation

(iv) Uses renewable resources wherever possible

Codes :

a i i i
2 i v
(3 Qi i v
4) v i i

39. Which one of the following set of factors explain the meaning of endogenous causes of
mortality ?

(1) Biological and environmental factors
(2) Genetical factors

(3) Biological and genetical factors

(4) Environmental factors

40. Arrange the following bigger States of India in descending order (high to low) in view of
their natural growth rate of population according to the SRS Bulletin July 2016 :

(1)  Jharkhand (i)  Rajasthan
(iii)  Uttar Pradesh (iv) Bihar
Codes :
Q) [ \ VAR TR |
2 iv i i ii
(3) i i i v
4 iioiiv i
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40.
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GO Y-STeT T T HIAT FAT hicH &ial € 2 =1 H & Tel I T
(1) 9 STeT T3 Bia &, A STeT =05k ¥ STl ¢ |

(2) Y-STOT AT (SSTcT) Tl AT FHIAT Hic el & |

(3) &Rl & Fehe 9-5TeT SUAT BT ¥ |

(4) T <%k g ¥R T ¥ |

freferfaa & @ 1 Fad @A i foeiar € 2

(i)  STemes $a9 W 9gd MR gl § |

(i) ey b faeTa e ¥ Tamar e |

(i) TR FHTE T |

(iv) STt ot WO BidT €, TAhona T T YT T € |

fefefad & i T %R Jog X & SRS HROT o 372 T T AT ¢ 2
(1) i T JAeRviT FRE

(2)  oTeIfT PR

(3) Sifass @@ MERTH FRF

(4) TATEROMNT HRb

IRA & H=Taiad a8 Tl Sl 3! U H T&sT g 3T o HeToR UH X TH S[AE-2016
% Feifed & TR Fared Y :

() wRETs (i) ToEE
(i) I UL (iv) feer

4 ioaioivi
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41. According to NFHS-IV data, which of the following States had highest percentage of
children age 12 — 23 months receiving full vaccination coverage ?

(1) West Bengal (2) Goa
(3) Sikkim (4)  Tamil Nadu

42. The natural growth rate of India falls in which among the following categories as per the
SRS Bulletin July 2016

(1) 6-8% 2 9-11%
() 12-14% (4) 15-17%

43. According to NFHS-4, arrange the following States in ascending order (low to high) of
their current status of child mortality rate in rural area :

(@ Andhra Pradesh (b) Karnataka
(c) Tamil Nadu (d) Telangana
Codes :

1 @ b @© (@
@ ® @© O @
@ (© @ (b @
@ @ (© @ O

44. The age standardized marriage rate for females is given by (*refer to standard population) :

0 ASMR; °° ASMR:Pfa

1 X S x 1000 @ X ——= - x 1000
a=15 a=15
°° ASMR;PZ °° ASMR;Pfa

(3) 2135Tx1000 (@) 22— x1000
a= a=

45.  What is the relationship between Gross National Product (GNP) and energy consumption ?
(1) As GNP increases, energy consumption increses.
(2) There is no relationship between the two indicators.
(3) Each increases in relation to the other.
(4) Asenergy consumption decreases GNP increases.
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41. TA UH UF TH-IV ARG % SER HeAfarad 5 9 68 T59 § 12-23 AR & 2 o deai & ol

&quqx0|aﬂsﬁhwd NEN dﬁaq7%7

(1) ufvem Ser (2) T
(3) i (4) dfHerTg
42. TH 3R TH & SIS 2016 F Tl & TN 9RT UThidh iy I i FETerEd § & g gon §
3T & 2
(1) 6-8% 2 9-11%
() 12-14% (4) 15-17 %

43. UF U UF UE-4 % AR FAfeRad Isat B AEn &5 7 St 9o 33 et S9! aame (et

% STIAN e 3 (FH W 3T4eh) W sFareerd &Y

(a) 37y wew (b) FeH
(c) dferTg (d)  derTET
HT

M @ ® © @
@ ® © O @
@ @© @ b @
@ @ (© @ O

44, WfeeNsT & GaY H HHhiSd foaTe 5 fhaeh §RT i eidt & (* T STHEEA ST 8) ?

o ASMR: o ASMR:Pfa

1) X —=2x1000 @ X —— % 1000
a=15 a=15
o ASMR;P; o ASMR:Pfa

@ X~ x1000 @ X 1000
a= a=

45, THeT LT IS (ST T O FAT SoTT SUHT o el T Ty € 2
(1) <TE-ST9 ST oF & 7 g il &, el &1 S Sec € |
(2) T Hehdel & oI HIE GaY TEl Bl |
(3) TUH-TE T TY 84 & HROT AT A g &Il & |
(4) S-S ST T SN HedT &, ST U 0T H gig el ¢ |
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46. Assertion (A) : It will be very difficult for the Governments of developing countries to
provide its people decent quality of life.

Reason (R) : It is due to the prospect of population increase and depleting resources in the
developing countries.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

47. Which statement of the following are correct ?
(i) Reasons for migration varies among males and females in India.
(i)  Work is a predominant reason for female migration in India.
(iii) Females are predominant in rural to rural stream of migration.
(1) (i) and (ii) are correct. (2) (i) and (iii) are correct.
(3) (i) and (iii) are correct. (4)  Only (ii) is correct.

48. Which among the following reason for migration is covered by Census of India, 2001 ?
(1) Family unification (2) Natural calamity

(3) Development related (4) Move after birth

49. Match different fertility indices in Bongaart’s model given in List — | with their formula in

List—11:
List -1 List— 11
a. Cg, i. _ TN
- TF
b. C.xC, ii. _TFR
LY
c. C iii. _T™M
~ TN
d. C, iv. ~_TFR
"TFR+ A
Codes :
a b c d
1) i i i v
2 i oivoi
(3 i i i iv
4 v i i i
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46. MW(A):m%ﬁﬁwﬁ%mmﬁwﬁaﬁaﬁwsﬁmwmma@
|
FROT(R)  : [Trawier 9 | SHEE gig bl G T4 Y &l T T HRT & |
&
(1) (A) 3R (R) I Tel & T2 (R), (A) Fi T&t AR € |
(2) (A) 3R (R) IHT W&l &, T (R), (A) o & e =& ¢ |
(3) (A)TE, fFq(R)Tad & |
(@) (A) @, FI(R) FIE |
47. TrefatEa § @ B9 d w9 @8 ?
(i) 9RA H TEU a7 Afeersii & Jod- o HROT STHT-3TH 8 & |
(i) 9RA ¥ AfecsT & YogT T Th TG HROT HE ¢ |
(iii)  TTHIOT | WEIOT & § Yo H AfgATS i TEAT Sgd SUH ¢ |
(1) (i) @ (i) T E | (2) (i) T (iii) T E |
(3) (i) T (iii) W€ | (4)  Fae (i) T E
48. 2001 = YR I STUET §RT Va8 &q (=fciad o | foha SRoT 1 3niHet fbar mar € 2
(1) URER T THIHT (2) WP URT
(3) faehr Haiedt (4) 9 % qvErd fhEr T WM W ST
49. gt - 1 ¥ KT T AT Gt o A=t USEar gashisht bt gat — 11 § 3% 9 % 91 gHferd
HIT
Tl -1 T - 11
a. Cp i _TIN
- TF
b. C,xC, i. _TFR
- T™M
c. G ii. _T™M
~ TN
d C, iv. __TFR
“TFR+A
% :
a b c d
Q i i il v
@) i i v
@) i i i v
@ v i i
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50. Who among the following has opined that migration takes place from labour surplus
sector to deficit sector as a perception of wage differentials ?

(1) Stouffer (2) Sjaastad
(3) Lewis-Rains and Fei Model (4) Markov
51. Match Items in List — I with List — Il and select the correct answer using codes given
below :
List—1 List— 11

a. Methyl Isocyanite i. Global Warming
b. Biological Oxygen Demand  ii. Water Pollution Code
c. Carbon dioxide iii. Bhopal Gas Tragedy
d. Chloroflurocarbons iv. Ozone depletion
Codes :

a b ¢ d
@ i i i v
2 i i i v
3 v i i i
4 Qi i v i

52. According to NFHS-1V data, which of the following States has highest percentage of ever-
married women experiencing violence during pregnancy ?

(1) Telagana (2) Tamil Nadu
(3) Bihar (4) Karnataka

53.  Which one of the following organisation was not involved in collaborating survey on
‘Building a knowledge Base on Population Ageing — India (BKPAI)’ ?

(1) International Institute of Population Science (11PS)
(2) Institute for Social and Economic Change (ISEC)
(3) Institute of Economic Growth (IEG)

(4) Tata Institute of Social Sciences (TISS)
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50. TAfrEd 3§ fhas aq of o6 90 Sfuey &F 9 Sl et &F ° Yo e & 3T Hi

FEYROT % 0T BT & ?
(1) W (2 TERE
(3) RGN AT %E Hige (4) AR

51. gdl — 1 %t T&l ol gl — 11 % 91 GAT HISTT q = [§T T e 1 YT FHd gT Tl SR
T TIT HIT

e -1 e - 11
a. U aTEEIETERE i olfYers A
b. Sifow RIS T i, STl WgUUT e
c. THE SRIAGIES i, STeT g AT

d.  FARIFARIRIEH iv. ST eTae™
% :
a b ¢ d
@ i i i v
@ i i 0 v
@ v Qi i
@ i Qi v

52. TUF UF U UH-IV 3fhgl & SER THEN & SR €81 97 gt a7 foafed @i Afectat &
T e uiderd =faied 5 J g T H € 2

(1) et (2) dHeTg
3) fmw (4) HACH

53. FHAffad § | &9 9 WeT “YRd H 95 &idl SHEEH & R H STHeRI & YR a9
(3 % Ot T L)’ Tl ToAIUT o TEAT | I A& ot 2

(1) S SHEE R T (31 o7 0 1)
(2) @IS Ue e URede S (3 T € )
(3) enferer iy HeAw (31 € M)

(4) =TT TS fom G (St 3T T )
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54. Assertion (A) : Health status of population in our country is not good.

Reason (R) : Social exclusion and inequity across gender, caste and religion are major
barriers to good population health status.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

55.  Which one of the following is not a measure of population ageing ?
(1) Relative weight of the elderly in population
(2) Ageing index
(3) Old-age mortality rate
(4) Old-age dependency ratio

56. According to SRS (2010-13) cause of deaths Statistics, top ten causes of death in EAG
States & Assam (all ages) accounts for more than

(1) 70% deaths (2) 80% deaths
(3) 90% deaths (4) 100% deaths

57. Which one of the following Index is not used to measure the extent of digit preference for

ages ?
(1) Myer’s Index (2) Whipple’s Index
(3) UN Age-sex Accuracy Index (4) Bogue’s Index

58. How many Sustainable Development Goals (SDGs) have been identified by UN ?

1) 13 @) 17
3) 18 @) 20
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54, A (A) : TAN 39 H FTHET % W i (i st @i € |

FROT(R)  : GHISTH ST 9T forT, STfd 3 o Hadl STansar SHEE & 3T W
! fefa o g S € |

F

(1) (A) 3T (R) 4T et € 7 (R), (A) l Tl A= ¥ |

(2) (A) 3R (R) IHT W& &, 7 (R), (A) i Tt A= Fal € |

(3) (A) W g, T (R) Tord € |

(4)  (A) Tor g, T (R) W E |

55. frefefad & @ o1 g il SHEE %1 Hh T § ?
(1) SFEE ¥ g @i 1 A 9]
(2) FEEe g
(3) TN T X
(4)  FETeR R SR

56. TE 3R UF (2010-13) o T % HROT Gaell Sehel o 3R, § T ST ol 3 3799 | Hiet (Tt
3 A W) & MY 3 HROT (F=AIRad @ ot =T =it o oy SeR €

(1) 70% Hid (2) 80% =
(3) 90% Hiet (4)  100% Hid

57. Tr=fefad o @ fora gareich T U, 31 &q 37k axiaar st FET Ao o fog & fohar T 2

(1) TRR F GoHiE (I35)

(2) T T FaHh (SSH)

(3) TIF UL HI Y-ToTT WIhaTl Gashich (SSTH)
(4) I H IR (F25)

58. WY U FRT fohe Tad foshr ool (T S i) ol 9g= i T2 § 2

1) 13 2 17
3) 18 @) 20
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59. Assertion (A) : Unintended pregnancy is low among young women.
Reason (R) : Young women have more access to health and family welfare programmes.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.
(4) (A)is false, but (R) is true.
60. Which of the following is the major causes of death in age 1 — 4 years in rural India
according to SRS (2010-13) cause of death statistics ?
(1) Pneumonia (2) Diarrhoeal diseases
(3) Malaria (4) Fever of unknown origin
61. Which one of the following was not the substantive focus of ‘India Human Development
Survey (IHDS)’ conducted by the National Council of Applied Economic Research
(NCAER) ?
(1) Education (2) Health
(3) Livelihood (4) Environment
62. Which among the following concept is not associated with Malthusian approach ?
(1) Population bomb (2) Positive check
(3) Technological change (4) Overpopulation
63. Which of the following combination of factors did not happen to the relative economic
development of the third world, when International Monetary Fund (IMF) and World
Bank (WB) introduced the Purchasing Power Parity (PPP) measure in 1993 ?
(i)  Declined significantly (i)  Remained the same
(iii) Increased marginally (iv) Doubled
Codes :
Q) @) (i) (i)
@ @ () (v)
@) (i) (i) (i)
4) (i) (1) ()
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59. AfmeA (A) : Jaa B SRS Tl FH ¢ |
FHRUT(R) T T URER HeAT0T HRAHH Sl ITAST Jaradl dw 3w € |
F
(1) (A) 3R (R) T & €, 721 (R), (A) i Tl A= & |
(2) (A) R (R) A &l €, g (R), (A) Pt T&l =amen & € |
(3) (A) T g, fFq (R) Tord & |

(4) (A T €, < (R) T&t € |

60. TH 3T TH % Gog % HRON Foidl Aehgl (2010-13) & SFER AHOT AR H 1-4 a9 o 3777 a7 A

g T JT HROT (1 F i A1 2
(1) FmfEr (2) afaER T
(3) weifan (4) T g 1 @R

6l. VT FREEA A TS THHAITS K& (T & T § 3R) g7 HAT 0 “9RT T Gare
Tarehr qaeToT (3T U € ww), H fAtetEd | 9 6 W e ¥ 9 e e g3 w2

(1) Torem (2 @
(3) aAmilfereht (4) TR

62. = ° I A1 AIYEEE SURTH ¥ Hefd T2l ¢ ?
(1) S e (2) THRHS =00
(3) viEnfTeRt gited= (4) 3tuss SEET

63. maﬁﬁ@aﬂmaﬁq(aﬁ@w)wﬁﬂwémﬁW% H % AR e (Ut ) =\ b
AR o T A faea o S foehre & Eed | FEiead § § B § HE B A Tl

g 2
() SeoiEHE REe g (i) = @
(iii) el gfe g (iv) S &
A

@ (@ (@) (i)

@ @ @) (v
(3) () (i) (iv)
@ (i) (@) (v)
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64. According to NFHS-1V data, which of the following state had highest percentage of
current use of ‘any modern method’ ?

(1) Haryana (2) Andhra Pradesh
(3) Maharashtra (4) Karnataka

65. Which educational category among the following shows highest difference between male
and female in census of India, 2011 ?

(1) Primary level (2) Middle level
(3) Secondary level (4) Technical education

66. Which one of the following statement is not true ?
(1) The period prevalence rate is frequently used than the point prevalence rate.

(2) The period prevalence is the sum of point prevalence at the beginning of the period
plus incidence of cases during the period.

(3) The period prevalence rate is used to measure the frequency of illness existing
during a defined period.

(4) In case of acute illness of a relatively short duration, the period prevalence rate is
approximately equal to the incidence rate when the period of observation is
sufficiently long.

67. Which among the following biological factors affecting foetal and neo-natal infant
mortality rates hold true ?

(1)  Age of mother (i) The birth order

(iii) Spacing between births (iv) Weight at birth
Codes :

YN0 N ON()

(3) (), (i), (iii) 4) (i), (ii), (iii) and (iv)

68. What is not correct about Rashtriya Kishore Swasthya Karyakram (RKSK) ?

(1) Purpose is to strengthen the adolescent component of Reproductive, Maternal, New
born Child Health & Adolescent (RMNCH + A) strategy.

(2) A dedicated Adolescent Health Counsellors is placed under School Health
Programme.

(3) Expanded scope of the programme includes nutrition, sexual and reproductive
health, gender based violence, mental health and substance misuse.

(4) During the first phase 50% Blocks in 231 districts will be covered.
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64. TH UF UF UH-IV 3Hel % AR ‘Tohdl off Mg U5’ & aaque WanT 1 9o 3fees ufaerd

fefafeg A @ frg g w1 e ?
(1) =iEon (2) 3Ty W
(3) WERTE (4) HARH

65. 2011 I YRT B STHOET § (H=ATArEd § 9 f6g etfores oft 5 qo qen Afeenst & a6l

31iYer 37aY 9T T § 2
(1) s wR) (2) UI ArEAmSE (FeeT) TR
(3) TR TR (4) ! o

66. frefcfad & & SH T1 Fo TE T2 & 2
(1) Tivad a9g (@Ee) Toed 3T ol § 1Aty Taei 83 1 STHER TaT 6T ST & |

(2) oty Yoo, STy % URY W Fved S5 (@rEe) TEe d91 39 YA % SR 9Tl H
T A EAT T |

(3) Ay U=e I AT FRANT Uk HIved 7afy & IR HIS[E AT i g 6l Ao & forw fomar
ST |

(4) STURTIRT T AT & TR INT & T H @G i A T4 el g+ W S7ay Joes
TY G &T 3 ST GAM &1 8l & |

67. U7 T FeIST 919 Gog TR BT TS e el feAfeatad & & i |1 Ao R Tl ?

(i) W @ ey (i) ST ®H

(i) STl % S S emary (iv) 9% q9F a5
% :

@ @ 2 (), (i)

3 (@), (i), (i) 4) (@), (i), (iii) 7 (iv)

68. T fhl T Hdshd (AN % UH %) % o) § 1 Gel T2l & ?

(1) =T TESH ST, g, TasTd 1] e q91 iR Geael WHEITT (TR TF T 9§ 04 + 1)
% TheTR ek ol Ggg BT & |

(2) O fFeNR T RHSIRTATST i Whet T Hrdshy & ST &l Sl ¢ |

(3) FEHH F foRdId SRR H UNER, I Ud UeH e, fonm smaiia f&an, amiaes wme
T TS o FEUANT i FiTerd fvam T g |

(4) v =07 o AR 231 el § 50% @UST i Her fohar S |
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69. The following List — | presents Development activities and List — Il describes major
impact on environment on account of these development activities.

Match List — | with List =1 ;

List— I List—11
(Development Activities ) (Major Impact on Environment)
a. Forest Cleaningand Land i. Extinction of rare species of flora and fauna
resettlements creation of condition for mosquito breeding

leading to infectious diseases such as malaria.

b.  Agro industries ii. Air pollution due to burning of biogases as fuel
in sugar mills, large amount of highly polluting
organic waste surface water pollution.

c. Timber extraction iii. Degrades land, destroy surface oil, reduces
production potential of future forests.

d. Urbanization and iv. Concentration of population in urban centres
Industrialization make huge demands on production in rural areas
and put pressure on land, air and water pollution.

Codes :

a b c d
L iv i i i
2 i i v
3 i i i v
4 Qi diiv i

70. In the model classifies the intermediate variables’ devised by Kingsley Davis and Judith
Blake, which one among the following is not included under the category factors affecting
exposure to conception (“Conception variable”) ?

(1) Fecundity or infecundity, as affected by involuntary causes.
(2) Use or non-use of contraception.
(3) Coital frequency (excluding periods of abstinence)

(4) Fecundity or infecundity as affected by voluntary causes (sterilization, sub-incision,
medical treatment etc.)
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69. frefeiEd gat — 1 | faehra fohamehenma U 7T & q gt — 11 | 37 foehrg feharehetmal & shRot
TATERT U TEA ATt W TTE B Ui fRar T € | g — 1 S G —11 % 1 AT i
e -1 e - 11
(fereprer fopamehea) (TateRoT W e yee)
a. O I THE A YH T i o 3 STa-S=g SPId @ ol USTiaEl
faeiiom, 7= & USHE o ferfa o9, e
TARET S Hehraeh AT U1 & & |
b. T ST ii. T Tl B S o $6F % ¥9 H ST & SRoT
T WSHYT, S HET H ST UgUOT A Al
Sifereh e, el StoT TguoT

c. THRCH AhHE! Hl Fle iii. i T 3THAVI, HAR! qoT HT ORI, TS S B

SCTE FHTH TS |

d.  IEUHIOT qAT AMTRIHOT  iv. VBN HH H FEEA B GEAAT 9 W07 &5 9

TEYUT T TS TS |
FT:
a b ¢ d
@ ivoodii i
@ i i i v
@) i i i v
@ i i v

70. e Sfom dun Sffey =i gRT Ghloud Hieel H ‘Heradl dRuSed’ S ailigd 6T T € |
frfeiiad 5 | f6d TR TRESR ot TITad - alet SRl (THERUT aRused) &t Sl &
ST STHeT el foham T & 2

(1) SHT=3% HRUT T TG ST &THAT 3T2ET ST SRIAT |
(2) TRIERT BT YA AT TS T HIAT |
(3) T IRTERAT (UREST St ST i BISHI)

(4) TiesH HROT (FEATHT, FoI-gAMGsH, Fafhaar STEOR 317) T UdIfad S &Toar 37ere
ST STRTHT
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71.  What is not correct in respect of Integrated Child Development Scheme (ICDS) ?

(1) The target group is children in the age group 0 - 6 years.

(2) Objective is to reduce the incidence of mortality, morbidity, malnutrition and school

dropout.

(3) The scheme is jointly implemented by the Ministry of Women and Child

Development and Ministry of Health.

(4) The ICDS scheme also offers package of six services including pre-school non-

formal education.

72. Arrange the first four countries among the following in descending order (high to low) in
terms of the Human Development Index (HDI) rank assigned to them according to the
U.N. Development Report — 2015 ?

()  Norway

(i)  Australia

(i)  Switzerland

(iv) Denmark

Codes :

(1) Denmark, Switzerland, Australia and Norway
(2) Norway, Australia, Switzerland, Denmark
(3) Switzerland, Norway, Australia and Denmark

(4) Australia, Switzerland, Denmark and Norway
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71. THETHT ST R ASHT (3T 9 S TH) & IR | 1 9t T6 & ?

(1) TaEE0-6 M I HIH T |

(2) TTH IRYT Yo I, ST, FUIHUT FAT Whel S B BIg ol 3T H HH AT E |

(3) TE IS Higell 31X et [T Ao T e HaTerd §RT G € F fohantod i T
WE |

(4) Mg W S UE AT H el qo -y e |iga 9% Wanett o dehet &1 ot v
o T T |

72. UG O GO (TF S 27ME) & G5 § MEteiad § d YU9 R 9 % Ggad T o
Ui — 2015 & FER 3¢ UM T T & & 3MUN W =g %A (31UF T &) § Fared
I
Q) ==
(i) i
(i) RaReis
(iv) =T

%< .

¢ -

(1) <7, feesrels, sfeferar 3K A

(2) =, sl feresRets, s

(3) RacsRete, AW, Siear 3R SR

(4) eiiorn, faesRets, Samh 31X A1
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73. Match the following measures of mortality given in List — | with their definition in
List—11:
List—1 List—11
a. Neo-natal mortality i.  The mortality of live-born who have not yet

reached their first birth day

The mortality of live-born before
completing 28 days

b. Late-neo-natal mortality  ii.

c. Post—neo-natal mortality iii. The mortality of live-born after first week
but before 28 days of life.

d. Infant mortality iv. The mortality of live-born after 28 days and
before reached first birth day

Codes :

a b c d

Q) iv i i i

(2) i i i v

(3 i i v

4) i i v

74. Assertion (A) : The high level expert group on universal health coverage for India
proposed enhancing public expenditure on health from existing 1.2% of GDP to
atleast 2.5 by 2017 and to 3% of GDP by 2022.

Reason (R) : The increased public expenditure on health will lead to a sharp decline in
proportion of private ‘Out of pocket’ spending on health from 67% to around 33%
by 2022.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, and (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

75. In India, which among the following is considered as the period of ‘stagnant population

growth’ ?
(1) 1891-1921 (2) 1921-1951
(3) 1931-1951 (4) 1951-1981
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73. -
HitTg
et - 1
a. oNld §F X
b. Tacited Fasmd gg &
c. U TSI Hg X
d RYIg
!
a b ¢ d
@ v oo i i
2 i i \Y
3 it di v
4) i i v

ii.

iii.

1v.
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1 9 ST M0 g X & Hefeiad Aol i gt — 11 | &1 T8 37! TR & 31 oford

et - 11
Stifard ST 39 et i §og I R 37h e
SFAfeT o ol & Hid & T |

e ST 3 St i geg 7 e 28 T ¥
T | et & A 8l T |

STifad ST 37 el ol Jog X Sl 37 5T+ &
T HE a1 W] 3T e & 28 o ot o
T IEe & Wi e e |

Sfifad SV 37 Feat 9o T e 28 i %
YT ] O B SS9 & Hid 8@l T |

74,  AHHA (A) : TRA % Gag H TS W HaisT Tadl 300 Wl Ot g 7 W |
BRI @ Hl 2017 TH T bl Te] ST & 1.2% T TS HH T HH 2.5
A TAT 2022 Th FheT BE] IS T 3% Tk T I WEdal [haT & |

HRT (R)

A

(=N

(1)
()
(3)
(4)

: TRA W WK % 9¢ @Y & HRUT WA T 6l 59 § @9’ & O § oSt

¥ fiRTee U 31 I8 2022 9% 67% 9 TEHT 33% & ST |

(A) 3R (R) 31 T&l & T (R), (A) F Tel AT |
(A) 3R (R) 341 Tl €, T (R), (A) i Tt AR &l ¢ |

(A) T& &, & (R) Toa & |
(A) TeTd €, T (R) W&l & |

75. 9Rd H f=fafed o 9 6 s1asg Staen gig” @i srafyy wm=m S & 2

(1)
(3)

1891 - 1921
1931 - 1951
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(2) 1921 - 1951
(4) 1951 - 1981
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